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Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each.
For each question, four options are given. One of them is the correct answer.
Make your choice {1, 2, 3 or 4). Shade the correct oval on the Optical Answer
Sheet. All diagrams are not drawn {o scale. (20 marks)

1. What is the biggest whole number that gives 159 000 when rounded off
o the nearest thousand?

(1) 149999
2) 159499-
{3) 159999
{4) 160000.

2. 2 050 m is the same as _ km.
(1) 0.205 km
2) 2.050km
(3) 205km - .
(4) 205 km

3 Which of the following has the same expression as % ' %— 7
(1)
{2}
(3)
{4)

< 4. What is the result when 12 hundredths is removed from 12 tenths?

(1) 0.0108
(2} 0.108
{3) 1.08
4) 108

{Go to the next page}
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5.

What fraction of the figure is shaded?

M
)
3
4

ml

40 mi
45 mi
50 ml
70 ml

{Go i the next' page;
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7. The figure shows the net of a cube.
A}1Byi C
D{ &} F ¢

Which 2 faces lie oppos'it'ef;eac':'h other? -

. (1) AandD
(2 BandD
(3) BandE
(4) Candf
8. 4 men look 3 hours to paint a house. If two more men joined them right
- from the start, how many hours will it take them to paint the same
house? :
{H i l h .
' 2
(2) 2n
2
3 2=h
(3} 3
(4) 6 h

9. .Exp'ress 2dgasa ;:rer_centage of 2 4 kg.

M 1%
@ 01%
(3)  10%

(4)  100%

(Go fo the next page)
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10.  John walked from his home to the park at an average speed of 3kmvh for
20 minutes. He continued his journey from the park to school by running
at an average speed of Sknvh, If the total distance from his home to
schoot via the park was 2 500 m, how long did Johg take for the total

journey?

{1 20 min

{2} 35min

(3} 55min
(4} 60min

11. Mr Tan sperit -} of his salary and another $400 to pay the bills. Out of the

remainder, he gave another 60% to his wife and $40 to each of his 2
children. If he was left with $720 for himseilf, h?w much was his salary?

(1) $800
(2} $2 000 .
(3) $3200
(4)  $4800 )

12. The figure below is made up of a thombus ABDE and 3 friangle BCD. CDE
Is a straight line and the ratio of angle y to angle x is 3:2. Find . x.

A B

(1 - 13° .
2) 26° '
3) 39

4 65 .

{Go lo the next bage)
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13. A basket contained some apples and oranges. Afier 30 oranges were
added into the basket, the percentage of oranges increased from 40% fo
60%. How many apples were there in the basket?
{1 30
{2) 36
3y 60
4y 90
14, Whatis the value of 200 + (8 +2) x2— 3+ 52
(1) 12
@ 2
{3) 15
4y 42 s
15.  The pie chart shows how Mr Tan divided his salary for the month of May.

The amount of money he gave his two sons is %of the amount he gave

to his wife. The amount of money Mr Tan spent on fransport is the same
as his savings. The total amount of money he gave to his wife and spent

on TV setis % of his saiary. How much money did he save for the month

of May?

{1) 3$450
{2} %600
3y $900

(4)

$1200

savings
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Questions 16 to 25 carry 1 mark each. Write your answers in the space provided.

For questions which require units, give your answers in the units staled. (10 marks)

16. A man, who was facing northeast, turned 1 35°clockwise. Which direction would

he be facing?

Ans:

17. Aman bought 4 files and gave $50 to the

cashier. He received $y as\change.
Find the cost of each file in terms of y.

. " Ans: $

18. Find the value of —1~ X 12- x E X f— X... X 196 }92‘ X 98 X 1—%
2 3 4 5 ’lﬁz 198 199 200

Do not wiite
in this space

|

Ans: . 4 l*

19. The table below shows the parking charges at ABC shopping complex.

First hour $1.60
, Every additional 15 min or part thereof $0.50

How much must Mr Lim pay if he intends fo park his car at this car park from
11.25am.to 1.10 p.m.?

Ans: $

" {Go to the next page)

Cud
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.5 . -
20. Express 5 as a decimal correct to 2 decimat piaces.
A

Ans:

21. Express 0'075 as a percentage.

Ans: - . %

Do riot write
in this space

]

22.  The figure below is made up of identical cubes. In the grid provided, éhade
the relevant squares to show the top view of the figure.

Top view

{Go o the next page)
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1 - 3
Z23. g of Alan’s marbles is the same as ¢ of Ben's marbles. Find the ratio of

Ben's marbles to the total number of marbles of Alan and Ben.

Ans:
24. Fill in the blank in the statement below.
07- 1 =
N
8T1.Z~
Ans:

25. Howard has 145 sweels and Joseph has 35 sweets. How many sweets does

Howard need to give Joseph so that Howard will have twice as many sweels
as Joseph? ' B

Ans: -

Do noi wiile

in this space

Total marks for questions 16 to 25
- {(Go to the nextpage)
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Questions 26 to 30 cany 2 marks each. Show your worsking clearly in the space Do not write -
below each question and write your answers in the spaces provided. For questions
which require unils, give your answers in the uniis sfated.

{10 marks)

in this space

26. The figure below is made up of 2 triangles ABC and ABD. Given that the
shaded area is 18 cm?, what is the length of AB? ' -

o

-‘J
3

fAMT RE A n R s

MAA A

I

Ans: cm

27. Construct a parallelogram ABCD given that AB = 9 cm, BC = 5 cmt and
£ZBAD = 80°.

|
b""ﬂ‘.‘."

" {Ge to the next page)
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28. Mary has enough money to buy 20 apples. If the price of each apple is
reduced by 10 cents, she will be able to buy an extra 5 apples with the same
sum of money. Find the original cost of each apple.

2 — Catholic

Ans: cents l

29. The figure below shows the number of books borrowed by'children ata
regional library for a week. Calcutate the fotal number of books borrowed

for that week.

Regional library’s borrowing records

35

ES

Number of ¢hildren

Number of baoks bomowed by each child

Ans:

10

{Go to tHe next page)

Da not wrile
in this space
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38. A man travels from Town X o Town Y al 4 um/h and from Town Y to Town X at

6 km/h via the same route. The whole journey takes 45 minutes. Find the
distance from Town X to Town Y.

Ans; - km

Do not write
in this space

End of Paper 1

11
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Questions 110 5 carry 2 marks each. Show yowr working clearly in the space
‘below each question and write your answers in the spaces provided. For
questions which require units, give your answers in the units stated.

{10 marks)

1. A pen costs 40 cents more than a ruter. John patd $x for a pen and a ruler.
Find the cost of a ruler in cents. '

Ans: _ctents

Bo not write -
in this space

2. Trees were planted aleng the perimeter of 3 rectangle field measwing 9 m by
18 m. If the trees were planted 3 meters apart from one ancther, how many
frees are there altogether? .

Ans: §

3. The figure below is made up of 2 equilateral tnangles and 6 identical sectors.

Find the fotal area of the shaded parts. (Take n = %2—)

2

Ans: ) __cm

~ {Go to the next page)
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Each link of a chain has an outside length of 40 cm, and the metalis 4 cm

thick Do not wiite
1CK.

440 in this space

-y

S
z
S
L3
4
.
*
L

a——y

Find the maximum length, in centimetres, of a chain which is made up of
10 links.

Anéz
Find the unknown angle y.
T -
-
32°
8
Y
o
N \\
= :
Ans: _ ’ °

- {Gotiothe next page)
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For questions 6 to 18, show your working clearly in the space provided for each
question and write your answers in the Spaces provided.

The number of marks avaitable is shown in brackets [ }atthe end of each
question or part-question. {50 marks)

Do not write
1in this space

6. In the figure, ABC is an equilateral triangle. Fing /5.

Ans; ° {31

7. Abag contains some green, red and blue marhles. -21— of the red marbles is

equal fo § of the green marbles. The number of blue marbles is g— of the

total number of green and red marbles. if there are 12 more biue marbles
than green marbles, how many marbles are there in the bag altogether?

Ans’ _ . i3]

 {Go to the next ;ﬁége)

I
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8.  Bryan had 50% as many slickers as Alvin. After Bryan gave away 30% of Do not write
his stickers and Alvin gave away 75% of his slickers, they had 90 sfickers 1a this space
left altogether. How many stickers did Alvin have at first?

Ans: _ 3}

9. A piece of wire 50 cm long is cut into two piet;es, One of which is
bent into a circle with radius r cm, and the other forms the square

enclosing it. Calculate the length of the diameter, using = as %

—

/
{
1

) ;‘-'\ns_; | '_ . . {31 D

{Goto the Ilé-)(t page)
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10. The pie chart below shows the type of food consumed by peopie in a food
courl. The ratio of the number of people who consumes burgers to these who
consumed fried ice is 1:3. Given that 80 people like to eat burgers, how
many people are there at the food court?

Anst_ — i3]

Do not write
in this space

11.  Find the unknown angles marked a, b and ¢ in the rectangle.

Ans: Za= | it
'Mszéb:__- -=.°[13
Ans: sZ¢= °{q
% ‘

{Go to the next ;;age) '

l
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2. Figure 1 below shows a rectangular tank containing 6 cubes and filled with water
to its brim. In figure 2, four cubes were removed from the same tank and the
water level dropped by 4.5 cm. After that, a certain amount of water was drained
off the {ank until the waml reaches the same height as the remaining cubes.

Find the volume of water in the tank in figure 2.

8 cm

. 24 cm ' )

Figure 1

24 cm

Figure 2

Ans:

4]

Do not write
in this space .

(Go to the next-page)
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3. The figure below is made up of 4 shaded parts formed by a ciscle and an
isosceles triangle XYZ. The circle has a diameter of 12 cm and in the triangle  |in this space
XYZ, XY= XZ=13cmand YZ=10cm.

(a) Calculate the perimeter of the shaded parts.
(b) Calculate the difference between shaded area ‘A’ and ‘B’

Use the value of n in the calculator and roun

nd off your answers to 2 decimal
places. o _

Ans: : () (2]

Ans: - (b) | 2 |:

{Go to the next page)

Do not write
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4. The figures below are made up of colored dots. Look ihe figures below and -

answer the following questions.

Figure 1

Figure 3

(a} Calculate the number of dots in figure 4. (1m)

{b} Calculate the number of dots in figure 20. {2m}

{c) Which figure contains'ﬁé;g coloured dois? {2m)

_ W
Ans: {a) {t]
Ans: {b) 174
Ans: () {2]
{Go {o the next page}

Do not write
in this space
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. po not wrile
15. The figure below shows a pattern made up of 4 identical squares, 4 |'"1is space

semicircles and 4 quadrants. Using = as %?—_ , calculate

{2) the total area of the shaded regions,

(b) the total perimeter of the shadéd regions.

v

Ans: (a) 121

Ans:{(b) - - 12} l _

. {Go to the next page)
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Qo fnot write
16. A Spaceship Lego set costs $80 more than a Tommy train set at a toyshop. in this space
During its anniversary, a storewide 20% discount was given fo all cuslomers. )

In addition, members of the toyshop enjoy an additionat 10% discount.
Mr Tan, a member of the toyshop, paid a total of $345.60 for the Spaceship lego

set and the Tommy frain set. _
Calculate the original price of the Spaceship Lego set.

Ans: K _ _ 151 lL

(Go to the néﬁct"page)

10
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Mr Tan tOK 6110 drive from Town A to Town' B,

Mr Lim, who staried at the same time as Mr Tan, took 4 h to drive from Town

B to Town A.

When they mei each other, they were 48 km away from the midpoint of

Fown A and Town B.

(a) Calculate the distance between Town A and Town B.

(b) Calculate the speed of Mr Tan.

Ans: (a)

By

Ans: (b)

i2]

Bo not wiite
in this space

{Go to the next p'ége)
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18. 20% of John's savings is $120 more than 30% of Brian's savings. Affer John { Do not write

5 ] - i in this space
spent A of his savings and Brian spent 5 of his savings, John has $20 more than

Brian. Find the savings of John.al {isy

Ans: _ _ (51 lj

‘End of Paper 2

12
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15)a)308cm: b)232cm
16)$280
17)a)480km b)80km/h

18)$1080
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